
https://www.geekcert.com/e20-495.html
2024 Latest geekcert E20-495 PDF and VCE dumps Download

 

 

 

E20-495Q&As

Content Management xCelerated Composition Platform Application
Development Exam

Pass EMC E20-495 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/e20-495.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

 

 

E20-495 VCE Dumps | E20-495 Practice Test | E20-495 Braindumps                                1 / 3

https://www.geekcert.com/e20-495.html
https://www.geekcert.com/e20-495.html
https://www.geekcert.com/e20-495.html


https://www.geekcert.com/e20-495.html
2024 Latest geekcert E20-495 PDF and VCE dumps Download

QUESTION 1

Which specific permission(s) must a user have on a process template to invoke/start an instance of it? 

A. EXECUTE PROCEDURE 

B. READ, EXECUTE PROCEDURE 

C. RELATE, EXECUTE PROCEDURE 

D. WRITE 

Correct Answer: C 

 

QUESTION 2

A package is designated as mandatory in a manual activity when the process template is designed. 

If at runtime no package has been associated with a process instance when that activity executes, what happens? 

A. The activity completes and the fault handler is invoked. 

B. The user is unable to acquire the task. 

C. The server will create a package and associate it with the activity. 

D. The user is unable to complete the activity. 

Correct Answer: D 

 

QUESTION 3

In a particular process, the Review Invoice activity has a different calendar than the one selected on the process. Which
calendar will the system use to resolve timers created for the Review Invoice activity? 

A. the default system calendar 

B. the calendar applied to the activity 

C. the calendar applied to the process 

D. the calendar with the earliest date 

Correct Answer: B 

 

QUESTION 4

An application developer has generated a remote procedure call (RPC) trace file for a high level operation executed in
TaskSpace that is performing poorly. A profile of the trace indicates the following: 
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****** TRACE_RPC_HIST (D6 VERSION) **** 

DURATION (secs): 15.781 

TIME SPENT EXECUTING RPCs (secs): 13.620 (which is 86.31 percent of total time) 

Threads: 2 

Connections: 1 

What is a likely cause of the performance problem? 

A. frequent JVM garbage collection on the application server 

B. high latency between the browser and TaskSpace 

C. an inefficient query execution plan used by the database 

D. insufficient memory on the application server 

Correct Answer: C 

 

QUESTION 5

Which TaskSpace component must be modified to display two additional columns for a particular folder type? 

A. Folder Display 

B. Folder View 

C. Folder Information 

D. Folder Contents 

Correct Answer: D 
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